5 ENEREORSR
(SH6E10~12A%)
fBHE N EREER
SH6E12A31HIRE
1 BHEHH 1,68644 [73R 70044 HEH 6854F RHNZEE 27644 LA 2444
ERBGERE 14 ]
2 RBEHH 1,61444% [#7#R 67844 HH 65244 XAZEE 2594 R A 244
ARG ERTE 14 ]
3 BEESHER 70[E]
4 1R2RHNEDFERRUVERE
D 1R-2RHFEDFER
JEZY | BEXE1 | EXE2 | EN#E1 | ENE2 | ENEI | ENEL | ENES &t
1R # % 61 268 207 326 252 107 211 157 1,589
2 k¥ FE 10 219 148 388 277 156 212 179 1,589
BEAB ST 0 2 1 9 2 2 6 3 25
R EEH G 10 221 149 397 279 158 218 182 1,614
B R (%) 0.6 13.7 9.2 24.6 17.3 9.8 135 11.3 100.0
2 X ¥ FE
JEZY | BEXE1 | BEXE2 | E4#1 | BEhE2 | ENES | ENE4 | ENES =1
e 9 32 5 12 3 0 0 0 61
BXE1 1 186 23 54 4 0 0 0 268
BEXiE2 0 1 117 78 9 2 0 0 207
:;z ESE 0 0 3 243 69 11 0 0 326
] B2 0 0 0 1 192 52 7 0 252
= B3 0 0 0 0 0 88 18 1 107
B4 0 0 0 0 0 3 186 22 211
245 0 0 0 0 0 0 1 156 157
& & 10 219 148 388 277 156 212 179 1,589
QERXE
EB-FIEHH EEHH ETEE
1,589 331 20.8 %
-4 -3 -2 —1 +0 +1 +2 +3 +4
RERR [asoome | 504 2527 1524 EEAL 1524 2527 350y | 45voulk
BBy | B BB BB Fld 8% B BG5S 5%
0 0 0 7 1,258 216 87 18 3
5 ENE(EXRBTEEH (FM6F12A3BREEAES)
BEXE1 | EXiE2 genEn# ENE1 | BENE2 | ENE3 | ENE4 | ENES H
E1SWIRRE 1,351 977 0 2,173 1,514 1,082 1,178 866 9,141
6555 LU 758K % 113 103 0 131 147 76 67 65 702
75 L 1,238 874 0 2,042 1,367 1,006 1,111 801 8,439
EoEWIRIRE 12 28 0 33 51 28 22 27 201
it 1,363 1,005 0 2,206 1,565 1,110 1,200 893 9,342
B W (%) 14.6 10.8 0.0 23.6 16.8 11.9 12.8 9.6 100.0




5 ENBETEORNR
(RFI6EERET)
fBHE N EREER
SHM6E12A31BIRAE
1 BHEHH 500744 [$73R 2,1264% BE 2030 RXAHZEE 7904 R A 5844
A RBEERE 3 ]
2 RBEHH 497144 [#738 2,099 BE 2049 REHNZEE 7614 R A 5944
ERBRERTE M ]
3 BEESHER 203[E]
4 1R2RHNEDFERRUVERER
D 1R 2RHEDFER
JEZY | BEXE1 | BEXE2 | EN#E1 | ENE2 | ENES | ENEL | ENES =1
1R # = 202 847 668 1,035 738 410 583 426 4,909
2 k¥ FE 35 701 483 1,228 825 549 619 469 4,909
BEAB ST 0 7 6 17 7 5 12 8 62
R EEH G 35 708 489 1,245 832 554 631 477 4,971
# B (%) 0.7 14.2 9.8 25.0 16.7 11.1 12.7 9.6 100.0
2 xR ¥ FE
JEZY | BEXE1 | BEXE2 | E4#1 | BEhE2 | ENES | ENE4 | ENES =1
JEEZH 32 110 8 43 9 0 0 0 202
BXE1 1 589 69 171 17 0 0 0 847
BEXiE2 2 2 388 236 34 6 0 0 668
’;z ESE 0 0 18 776 208 33 0 0 1,035
gé,] B2 0 0 0 2 555 164 17 0 738
= B3 0 0 0 0 2 338 69 1 410
B4 0 0 0 0 0 8 524 51 583
E4:5 0 0 0 0 0 0 9 417 426
& it 35 701 483 1,228 825 549 619 469 4,909
QERXE
EB-FIEHH EEHH ETEE
4,909 1,036 211 %
-4 -3 -2 —1 +0 +1 +2 +3 +4
RERER (450t | 500 2524 1527 EEAL 152% 2524 3505 [ 45vout
BBy | B BB BB Fld B85 B BHS 5%
0 0 2 24 3,873 671 264 66 9




